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1. T 

(a)9+3T (b)1+R 

(c)1c+R (d)l+ 

2. 3T -ff  'T1I' T 4, T 

(a) RT (b) uqci 

(c) tPft (d) bi 

3. ? 

(a) wiil 

(b) TTT 

(c) 1i 1 icii 

(d) lus 3I 

4. ', 'TIT WT3Tf 1b1 clIct 

411 t11c1I ? 

(a) cf T c1ctk d4ilfl 

(b)TT'4Ru-I1 I11* 3Tt 

(c) 

(d) r 

W 3W 3IRltc1I H*I  tft 

A -2- 
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5. -1 '1I'1 Uc1 'Mc ,31% i1  fi 

 Mc  c41 

(a) iI 3 PIc4I T 34IT 311 

(b)  1I1l c.fl  E1T 

(c) 3WT ic1 cHI 'lI  * 

(d)t iit 

6. wi E 34ctd 11c4, - 

(a) i1t1c1Ii 

(b) '-n Tk1cl 

(c) 1iI 

(d) ictft 

7 'TJj r' r ii its ? 

(a) 1kcIc1i 

(b) j1cbk 

(c)1fi 

(d) 3I1c1IHR 

8. ii1iPi iicio 

(a)1 (b) 

(c) (d) 

9. 1HR1Fc1 - cic -ft —%f 

(a) TTft 

(b) th 

(c)  

(d) [1T 



10. T1ftI 14 3T? 

(a) lT1T.ft (b) n4I 

(c) ulfl (d) 

11. 

(a) (b) 1IicI 

(c) 41 (d) 

12. dc1H-T Tt T  1 3TW1T ? 

(a)1-1 (b)i - 

(c)—f (d) — N-I 

13. 1iRci dcdH 

(a)  (b) 3T4 

(c) (d)T 

14. 'çj1c4) I' uir 

I1b  

(a) Mc4I4  

(b) sci 

(c) icd 

(d) 11i 

15. 

(a) 31R4 (b) 

(c) (d) 3T1I 

16. .j :j 'Ru' [ Tii 

(a) fli 

(b) i'-i 

(d) ttR 

PCUX-2 —22 

17. .111Rd UH ii ' 

(a) 111HI (b) c11I 

(c) Ri'ii (d) 'flii 

18. i1i1cf 4I c  

(a) T 

I 

(c) ¶'41I T P11Ri iift 11i'.. I 

(a) -3T, 1-T, 

(b) TT-, 

(c) 1T_, 

(d) 1T_3, Et- 

20. -i1iftcf 31IO  

(a) 4.jJ1 

(b) fjur 

(c)  

(d) T 
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21 Point out the synonym of DILAPIDATED. 

(a) lowered down 

(b) broken 

(c) weak 

(d) ruined 

22. Fill in the blank in the following sentence with 

appropriate conjunction: 

She must weep, she will die. 

(a) but 

(b) and 

(c) or 

(d) because 

Instruction for the Question Nos. 23 to 27. 

Read the following passage carefully and answer the 

following questions that follow: 

Since modern industrial society is highly organized, 

if there is a strike in a vital industry, the whole 

community suffers. I am not arguing that, the right to 

strike should be abolished. I am only arguing that, if 

it is to be preserved, it must be for reasons concerned 

with this particular matter, and not an general grounds 

of personal liberty. In a highly organized countly there 

are many activities which are important to everybody 

and without which there would be widespread 

hardship. 

PCL-2 —22 

23. A strike is generally regarded as 

(a) an undemocratic act 

(b) an expression of individual freedom 

(c) a gross violation of rules 

(d) an act of indiscipline 

24. According to the author which one of the 

following best express the industrial society? 

(a) Industrial society is blind to the needs of 

its members 

(b) In an industrial society members are 

dependent on each other 

(c) In an industrial society power is 

concentrated in the hands of few 

(d) In an industrial society the individual 

members is not important 

25. In the light of the passage, if there is a strike in 

a soap factory, it may be viewed as 

(a) not a serious matter 

(b) a matter of deep concern 

(c) a thing not likely to happen 

(d) a serious matter 

-4- 



(a) to, by 

(b) than, in 

(c) to, in 

(d) then, in 

A -5- 

26. The author is of the opinion that 

(a) strikes should be suppressed by all 

means 

(b) strikes should always be encouraged 

(c) strikes may be there in the interest of the 

general good 

(d) all strikes are bad 

27. The phrase 'this particular matter' refers to 

(a) the unity of strikers 

(b) the interests of the factory owners 

(c) the fact that industrial society is highly 

organized 

(d) the suffering of the strikes 

28. Which of the following is wrongly spelt? 

(a) accessory 

(b) accede 

(c) accelerate 

(d) absces 

29. Fill in the blanks with appropriate prepositions: 

me service. 

PCUX-2 —22 

30. Which of the following is the meaning of the 

idiom 'salt of the earth' ? 

(a) a dry person 

(b) a selfish person 

(c) a very good and honest person 

(d) a useless person 

31. What is appropriate meaning of the idiom 

'Do not always pick holes' ? Find out the 

correct answer from following options. 

(a) Dig holes 

(b) Criticize 

(c) Pick up a quarrel 

(d) Keep quiet 

32. Someone "strange or unusual in an amusing 

way", is known as 

(a) Zombie 

(b) Zap 

(c) Zit 

(d) Zany 

He is junior 



(a) 21 (b) 18 

(c) 20 (d) 19 

(a) 21 (b) 18 

(c) 20 (d) 19 

33. In decision making quality of choices are 

influenced by 

(a) Perception 

(b) Mental set 

(c) Intelligence 

(d) Abstraction 

34. If the compound interest on a sum for 2 years 

at 12 % per annum is 340, then the simple 

interest on the same sum at the same rate for 

the same period of time is 

(a) 335 (b) 310 

(c) 330 (d) 320 

35. Find the missing number. 

PCUX2-22' 

33• 5FT1ftt 

(a) ifleui 

(b) I.ifcb 1.-iii 

(c)  

(d) 311jic1l 

34. 11I T 2 12-% tR 

r1- 

3ft 3IftI % rlI. 4i.lIkui 4I't 11 iii ? 

(a) 335 (b) 310 

(c) 330 (d) 320 

35. -cI *it TcIr I 

36. If 12345671586 stands for TERMINATION, 

which number does 671586 stand for? 

(a) MOTION 

(b) NOTION 

(c) NATION 

(d) RATION  

36. ?.tf 12345671586 5T TERMINATION, 

T 671586 r 3f u
 

? 

(a) MOTION 

(b) NOTION 

(c) NATION 

(d) RATION 
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37. 1i1iR 

(a) 1R.cIIb 

(b) IIbIcb 

(c) iI4-H11t4, 

(d) 1Th 

38. 

ai1ti 3IIIclI.1 ).1l, *)1IdI 

(a) 1ii 

(b) 3IcHIl4I1 

(c) 3i1i1R1 

(d)  

39.  fI4 1ii.i 3TPt 5341, 4086 41kc11c1 

IT 4772, 5265 1{c4[c1 1T 'lR1l 'i 7614 

Ic1Ic1 lI 

(a) 8645 

(b) 4238 

(c) 7038 

(d) 6174 

PCUX-2 —22 

37. Which one of the following context refers to 
the relationship between the sender and the 

receiver? 

(a) Cultural 

(b) Chronological 

(c) Social 

(d) Physical 

38. The tendency to have more confidence in 

judgements and decisions than we should, is 
called 

(a) Confidence 

(b) Self-confidence 

(c) Over confidence 

(d) None of these 

39. If under some rule 5341 is transformed to 4086 

and 4772 is transformed to 5265, then 7614 will 

be transformed to 

(a) 8645 

(b) 4238 

(c) 7038 

(d) 6174 

40. You are a Police Officer, your duty is assigned 

at the State fair. Which of the following 

situation do you handle first? 

(a) A man obviously drunk has passed out 

and lying by the ticket booth 

(b) There is crowd forming around two 

unarmed teenagers ongoing with arguments 

(c) The ferris wheel is stuck in midair with 

people still on it 

(d) A dumpster next to the main tent 

pavallion is on fire 

A -7- 



41. Which statement is NOT correct? 

(a) Every rhombus is a square. 

(b) Every rectangle is a parallelogram. 

(c) Every square is a rhombus. 

(d) Every rhombus is a parallelogram. 

42. Which approach of decision making involves 

solving a problem using traditional means? 

(a) Creative approach 

(b) Routine approach 

(c) Scientific approach 

(d) Quantitative approach 

43. If x = 
I 

, then value of 4x3  - 2x2  - 8x +5 is 

44. Arrange the following words in meaningful 

logical order. 

1. Never 

2. Sometimes 

3. Generally 

4. Seldom 

5. Always 

(a) 5, 3, 2, 4, 1 

(b) 5,2,1,3,4 

(c) 5,2,4,3,1 

(d) 5, 3, 4, 2, 1  

PCUX-2 — 22 

41. l - fi ? 

(a) 1E1jT T I 

(b) 311 3TT1 1 1I-ci. I 

(c) 1 if* I 

(d) jc4- 1Hl-c1. 

42. fvf1 .iiv4ks rrf r '.t'i 
c4, iqi r *i ii1i ? 

(a) 'c.1Ic-lq, 31l1ll.I 

(b) i iTh iiiii 

(c) tlIT1i qii.i 

(d) IIc1-q 

43. iR  x= ,?14x3-2x2-8x~5 
h+i 

(a) 2 (b) —2 

(c) 0 (d) - 1 

44. 

1.  

2. qgiiir 

3. Il.1,.- 1d: 

4. fr-f 

5. iqi 

(a) 5, 3, 2, 4, 1 

(b) 5,2,1,3,4 

(c) 5, 2, 4, 3, 1 

(d) 5,3,4,2,1 

(a) 2 

(c) 0 

A -8- 



0-20 20_30130_40 

42 25 I 58 

40-50 

40 

45. Perimeter of a triangular field is 540 meter. The 

ratio of its arms is 5 : 12 : 13. The area of this 

field is 

(a) 9720 sq. meter 

(b) 9560 sq. meter 

(c) 9320 sq. meter 

(d) 9450 sq. meter 

46. What is correct order of writing a press 

release? 

1. What happened? 

2. Who did it? 

3. Headline 

4. When did it happen? 

Using the code given below, choose the 

correct alternative. 

(a)3142 (b) 1324 

(c)2314 (d) 3412 

47. The L.C.M. of x2 - y2, x3 
- 

y3  and 

3 2 2 3. 
x -xy-Xy +y is 

22 
(a)(x+y)(X-Y) (x +y-xy) 

2 2 
(b) (x+y) (x-y) 

(c) (x+y)(X_y)2 (X2 +Y2 +XY) 

(d) (x + y) (x - y) (x2  + y2  + xy) 

48. Find median for the following data: 

Class 
Interval 

0-20 
I 

20-30130-40 40-50 

Frequency 42 25 58 40 

PCUX-2 — 22 

45. 
i1tfl5:12:l3  dRlWT 

ff 'li ? 

(a) 9720 1 4k 

(b) 9560 W 4k 

(c) 9320 4k 

(d) 9450 4  

46. 

l.I3lT? 

2. i ? 

3. flc4, 

43T? 

;i t1 I 

(a)3142 (b) 1324 

(c)2314 (d) 3412 

2 23 3..-3 2 2 3 
47. x -y ,x -y i'x -x y-xy +y iTP1 

141IL1c4 

(a) (x + y) (x - y)2  (x2  + y - xy) 
2 2 

(b) (x+y) (x-y) 

(c) (x+y)(x_y)2(X+Y2Y) 

(d) (x + y) (x - y) (x2  ~ y2  ~ xy) 

48. RiRd 3IT f9T 4HR'I 1Id 

(a) 34.56 (b) 38.5 (a) 34.56 (b) 38.5 

(c) 32.67 (d) 36.6 (c) 32.67 (d) 36.6 

A -9- 



49. In a secret code message 'HOTEL' is coded as 
300. What will be the code for 'HOSTEL'? 
(a) 360 (b) 558 
(c) 374 (d) 474 

50. If I = 18, M = 26 and COME 72, then value 
of GO is 

(a)44 (b) 38 

(c) 72 (d) 40 

51. Find the missing letter from the following. 

B G 

D J 

G N 

(a)V 

(b) U 

(c)W 

(d) X 

52. Which of the following is NOT a barrier of 
effective communication? 

(a) Culture 

(b) Noise 

(c) Colour 

(d) Language 

PCUX-2 - 22 

49. 'HOTEL'3oo 
'IIciI I 'HOSTEL' i c4 

(a) 360 (b) 558 
(c) 374 (d) 474 

50. Tf I = 18, M =26 T COME =72 , i1 GO 

(a) 44 (b) 38 

(c) 72 (d) 40 

51. 1r1rd Ld 3TT iii t1rii 

B G N 

D J R 

G N 9 

(a)V 

(b) U 

(c)W 

(d) X 

52. i1iR c4 .j.4ff Tj 3TT R 

(a) *f 
(b)  

(c)T 

(d) 1TT 

N 

R 

7 

53. What is the main characteristics of Delphi 
Technique for group decision making? 

(a) Verbal communication 

(b) Face-to-Face communication 

(c) Written communication 

(d) Alternative communication 

53.  

(a) llf R 

(b) m-k1I iIk 

(c)lrn. 

(d) f~lc q  

A -10- 
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MA 
MAYA 

(a) 16 (b) 13 

(c) 15 (d) 14 

54. 
3FR 99 L P 1 nT 

(a) 22 

(b) 18 

(c) 15 

(d) 45 

55. r1i 

HOTEL: 12:: FILM:? 

(a) 18 (b) 10 

(c) 16 (d) 14 

56. 
I: T TT &I F 

-II1R ? 

II: ct4I 1cf I 1Hc1I ? 

4l  dI cbc.4 T 

t4.4 

(a)  ii I3 -1IIIlk1Ib 

(b) E1If* 

(c) 1IIIH1{bt 

(d)1IIMl{'4 

57. 1c14 W1l -d. c 

(a) 16 (b) 13 

(c) 15 (d) 14 

MA 
MAYA 

PCUX-2 —22 

54. p and Q are in the ratio 5 : 6 and difference of 

their squares is 99. The value of P is 

(a) 22 

(b) 18 

(c) 15 

(d) 45 

55. Complete the sequence with the correct option 

from the following alternatives. 

HOTEL: 12:: FILM:? 

(a) 18 (b) 10 

(c) 16 (d) 14 

56. Individuals receiving the message ask 
themselves the basic question. 

I : Is the person giving the message trustworthy 
and sincere? 
II: Does the source know anything about the 
subject? 
Using the codes given below choose the correct 
alternative. 

(a) Neither I nor II is relevant 

(b) Only I is relevant 

(c) Both I and II are relevant 

(d) Only II is relevant 

57. The number of parallelograms in the adjoining 

figure is 

A -11- 



58. 25 letters of English alphabet are arranged 
below: 

V C F U M 

P 0 x S H 

J z A I E 

B L D K Q 

N w G T Y 

If all the letters were to be arranged 
alphabetically, which letter would NOT change 
its position? 

(a)Y 

(b) U 

(c)X 

(d) W 

59. Which option is/are to be followed? 

Statement: Money is a huge motivator. 
Conclusion: 1. People get motivated only 

when they expect to get some 
money for doing or behaving 
in a certain way. 

2. There are some factors 
other than money which also 
motivates people. 

Codes: 

(a) Neither 1 nor 2 follows 

(b) Only 1 follows 

(c) Both 1 and 2 follow 

(d) Only 2 follows 

60. A tendency to fixate on initial information is 
called 

(a) Availability bias 

(b) Overconfidence bias 

(c) Confirmation bias 

(d) Anchoring bias  

PCUX-2 - 22 

58. aff cUIl.4MI 25 u1 ..fl 'mT?r : 

V CF U M 

PDX S H 

J Z A I E 

B L D K Q 

NW G T Y 

ciuT c1UI4.MI 'l i1TT fi 

'ift? 

(a)Y 

(b)U 

(c)X 

(d) W 

59. Pb rietq i aRuT fii '3t1c11 

lI i I 

1q4: 1. 

T O4c4  

14c4, 

2. 

(a)'f'??t 1231fft[dI 

(c) qlii 1 1 2 

(d) 123i1kci c1I 

60. 1fTIi IRT 

(a) ifTii 

(b) 'fTi 

(c)  

(d) LIT 'III 

-12- 



61. Numbers of triangles in the following figure is  

PCUX-2 —22 

61. rd ht 

(b) 18 

(d) 22 

62. In a letter series 

a__bb_a__bbaacc__a, 
the missing letters in the proper order are 

(a) bcabcbb 

(b) cbaccbb 

(c) ccaccbb 

(d) bbaccbb 

63. If131x+217y=827and217x+ 131y=913, 

then what are values of x and y respectively? 

(a) 3 and 2 

(b) 5 and 7 

(c) 2 and 5 

(d) None of the above 

62. UUft 

a__bb_a_bbaacc__a, 

(a) bcabcbb 

(b) cbaccbb 

(c) ccaccbb 

(d) bbaccbb 

63.  131x+217y=8271217x+131y=913, 

? 

(a) 3t2 

(b)5T7 

(c) 215 

(d) c4Rf 

(a) 26 

(c) 24 

(a) 26 

(c) 24 

(b) 18 

(d) 22 

64. Statement: Some rats are cats. 

Some cats are dogs. 

No dog is cow. 

Conclusion: I. No cow is cat. 

II. No dog is rat. 

ifi. Some cats are rats. 

Choose correct option: 

(a) I, II, Ill follow 

(b) only I and II follow 

(c) only III follows 

(d) only II and III follow 

A -13- 



65. The sum of deviations of a set of observations 

x1, x2....., x measured from 50 is —10 and 

the sum of deviations from 46 is 70, then the 

number of observations is 

(a) 40 

(b) 10 

(c) 30 

(d) 20 

66. The process of listening consists of 

(a) 7 stages 

(b) 4 stages 

(c) 6 stages 

(d) 5 stages 

67. The graphical techniques that can be used to 

represent nominal data are 

(a) histogram and ogive 

(b) bar chart and pie chart 

(c) histogram and bar chart 

(d) bar chart and ogive  

PCUX-2 —22 

65. rfi iq x1, x2....., x T 50 Ri 
1cl.i T — 10 31 46 rTJ1 INcH 

T170L 

(a) 40 

(b) 10 

(c) 30 

(d) 20 

66. i1ii 

(a) 7 t44,U[ 

(b) 4 RuI 

(c) 6 1kUI 

(d) 5T 

67. fi;N ict.0 

(a) 31111 r  aTh ct1.ui 

(b) qus 141 3 Fii 

(c) 3l1T1 fl4 a1 qus  

(d) qus f' 3 çu 

68. 1f13th 
 August, 2017 is Thursday, then what day 

of the week would be 27' August, 2023? 

(a) Sunday 

(b) Thursday 

(C) Saturday 

(d) Friday 

A -14- 

68.  1331TT, 2017 i,i273RTTr, 

2023 t 1'-c1I 1 1i 1ii ? 

(a) &iic4R 

(b) Ie4R 

(c) IIcR 

(d) R 



69. Four pairs of numbers are given of which three 
are alike and one is different. Find the one 
which is different. 
(a) 11,363 

(b) 5, 75 

(c) 9, 243 

(d) 7, 108 

70. Which of the following is NOT a stage of 
creative process in decision making? 

(a) Identification of proposition 

(b) Verification 

(c) Illumination 

(d) Preparation 

71. Choose the odd one from the given options. 

(a) AZ 27 

(b) CE 7 

(c) LP28 

(d) GJ 17  

PCUX-2 —22 

69. 

(a) 11,363 

(b) 5, 75 

(c) 9, 243 

(d) 7, 108 

70. fT lfT lR1 
T tuT Rf ? 

(a)  

(b) uq 

(d) 

71. 

(a) AZ27 

(b) CE 7 

(c) LP 28 

(d) GJ 17 

72. Decision making occurs as a recreation to
72. iMT k vfir i rr (a) Communication

(a) 1TJr 
(b) Solution

(b) TlTh1Tr t 
(c) Problem

(c) ETF 
(d) Mood

(d) 

73. What percentage of message is perceived 
non-verbally? 

(a) 40% 

(b) 30% 

(c) 50% 

(d) 55% 

A 
-15- 

73. T T ITIT 5r1rr rrfi q 
f1T F1?iT 

(a) 40% 

(b) 30% 

(c) 50% 

(d) 55% 



74. 
13 T qr352 2 . 

( 22" 
lt=- 

7 

75. [1TfT 3H%1RlW ft gi 

4 t[EIR91 iT I 

.3i.mm: 

2. RT9 rf 

t fi wi 

(a) 44l 

(b) 64't 

(c) 8l4' 

(d) 7  

PCUX-2 — 2'2 

74. If the radius of a sphere is increased by 

2 cm, its surface area is increased by 352 cm2. 

( 22" 
What is the radius of the sphere? 7 

(a) 4 cm 

(b) 6 cm 

(c) 8 cm 

(d) 7 cm 

75. Which one of the following valid conclusion 

can be derived from the following premises? 

PremiseS: 1. All scientists are graduates. 

2. No supervisors are graduates. 

Conclusiofl 

(a) No graduates are supervisors 

(b) No supervisors are scientists 

(c) All supervisors are scientists 

(d) All graduates are scientists 

(a) rr9h 

(b)  

(c) IT % 

(d) RTh 1T 

76. Which of the following is an example of dress 

code communication? 

(a) Verbal 

(b) Spoken 

(c) Written 

(d) Non-verbal 

77. The median of the first 10 prime numbers is 

(a) 12.9 

(b) 11.0 

(c) 13.5 

(d) 12.0 

A  

76. ER191T T-fl LcI 

(a)  

(b) Ti1T IT1 

(d) 31Tf 

77. Rq 10 3V1 

(a) 12.9 

(b) 11.0 

(c) 13.5 

(d) 12.0 

.16- 



78. Which of the following is NOT a feature of 

group decision making? 

(a) One head is better than two 

(b) Joint responsibility for the decision 

(c) Consensus among all the members 
(d) Active interaction between group 

members 

PCUX-2 —22 

78. P-irifti 

(a)  

(b) 1u1  'i fIV ct,i iwu 

(c) (q) 

(d)  

79. 8 is related to 81 and 27 is related to 256 in the 
same way as 64 related to 

(a) 625 (b) 225 
(c) 525 (d) 425 

79. 

MqIk 64fr 

(a) 625 

(c) 525 

  

(b) 225 

(d) 425 

80. Which of the following is NOT characteristics 
of problem situation? 

(a) Similarity of the problem 

(b) Size of the problem 

(c) Organization of problem situation 
(d) Complexity of solution 

81. A person buys 4 horses and 9 cows for 13,400. 
If he sells the horses at 10% profit and cows 

at 20% profit, then he earns a total profit of 
1,880. What is the cost of a cow? 

(a) 400 

(b) 900 

(c) 600 

(d) None of the above 

82. Identify the missing term from the following 
options for the given series. 

AND, COF, FPI, JQM, 

(a) ORS (b) QRS 
(c) ORR (d) PRT 
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80. 1lH11Rci 1l*I 
lrT rY ? 
(a) *111.n WII'lcil 

(b) wt T 3TT 

(c) i+-n f.rfi ir klI&1 

(d) rmirr 

81. ____ 

I iI 10% i  20% ri 
IlTnT 

Thr fI 

(a) 4OO 

(b) 900 
(c) 600 

(d)  

82. ___  

AND, COF, FPI, JQM, _____ 
(a) ORS (b) QRS 
(c) ORR (d) PRT 



83. If 'GOLD' is expressed as 'HOME' in a code 

word and 'SONS' is expressed as 'TOOT' in 
•a code word, then 'CORD' can be expressed 
in code word as 

(a) DOSE (b) TOPT 

(c) TONT (d) TOOS 

84. Read the following statements and select the 

correct answer. 

Statement 1 : Communication is irreversible. 

Statement 2: Communication is constant. 

(a) Neither of the statement is true 

(b) Only Statement 1 is true 

(c) Both the statements 1 and 2 are true 

(d) Only Statement 2 is true 

85. Going 50 m to South of her house Radhika turns 

left and goes to another 20 m. Then, turning to 

the North, she goes 30 m and then start walking 

to her house. In which direction is she walking 
now? 

(a) East 

(b) North-West 

(c) South-West 

(d) North 

86. What type of communication 
is a press release? 

(a) Interpersonal 

(b) Public 

(c) Intrapersonal 

(d) None of these  

PCUX- 22 

83. ik 'GOLD' TT 'HOME' 1Ti 
1T Hc1I , T 'SONS' c  TT 'TOOT' 

'iicii 'CORD' c  11i 

(a) DOSE (b) TOPT 

(c) TONT (d) TOOS 

84. irn  f-TRt  

1: 11R t 

WI 2: i I 

(a)  

(b)t%R 1 (r 

(c) -ii R 1 3k 2 '&c 

(d) I Ti 2 ic- 

85. u1i b 50TTh 

cI30 

(a)  

(b) rt-4 1.1 

(c)  

(d) 'rt 

86. I rc 1i c4,R T -iu. 

(a) 1iq 

(b) flc11Icb 

(c)  

(d) t-i1 
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87. From the following equations x2  + y2  = 41 
and x4  - y4  = 369 the value of x and y will be 
respectively 
(a) ±3,±4 

(b) ±5,±4 

(c) ±4,±3 

(d) ±4, ±5 

88. Which of the following is NOT related with 

the characteristics of problem solver? 

(a) Generality of solution steps 

(b) Motivational factors 

(c) Past experience and practice 

(d) Set variables 

89. Which communication has an emotional 
appeal? 

(a) Intrapersonal communication 

(b) Mass communication 

(c) Group communication 

(d) Interpersonal communication 

90. Find the missing number in the following series. 

2/ 4/ 11/ 16/ 
/3'/7'" /21' /31  

PCUX-2 -22 

87. Ii1iRsi 11lcI.uui x2 +y2 =41x4-y4 =369 
4 x i yTlR 5bI: II 

(a) ±3,±4 

(b) ±5,±4 

(c) ±4,±3 

(d) ±4,±5 

88. i1iiftci 44 -ii i ii rmnr c 

(a) 1'lT11T i Hill i-l1I 

(b) 3Tf(Ur1 cbikct 

(c) 31 34 31fl 

(d) f -ii 

89. 1i ii 4 i'iici  3T t 

(a) i'ii 

(b) R  

(c) ij ki'lK 

(d) 1ic 4qR 

90. i1i1 i4 I 

2/ 4/ 11/ 16/ 
/3'/7'' /21' /31 

(b) 19/ 

(d) 

(a) 

(c) 

91. The fifth letter of the letter sequence 
Y,W,T,P, is 

(a)J (b)I 
(c)K (d)L 

91. 311Y,W,T,P, TcTu1t 

(a)J (b)I 

(c)K (d)L 
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92. Which one of the following is NOT a skill of 
interpersonal interaction? 

(a) Administrative power 

(b) Positive thinking 

(c) Courtesy 

(d) Empathy 

93. A circle touches all four sides of a quadrilateral 

ABCD whose sides are AB =8 cm, CD =9 cm 

and BC =7 cm. The length of side AD (in cm) is 

(a) 12 

(b) 8 

(c) 11 

(d) 10 

94. 'Do you like working?' This question is an 
example of 

(a) Negative question 
(b) Open question 
(c) Positive question 

(d) Close question 

95. Rajan is brother of Sachin and Manak is father 
of Rajan. Jagat is brother of Priya and Priya is 
daughter of Sachin. Then who is the uncle of 
Jagat? 

(a) Sachin 

(b) Rajan 

(c) Manak 

(d) None of these 

96. The background signals, distortions and 
distraction during communication are known as 

(a) Loudness (b) Noise 

(c) Receiver (d) Feedback  

PCUX-2, 22 

92. f1rf i 31dg1q, 4R*.I1kc4 

? 

(a) iIilcl iId 

(b) I.Ic1icI, 

(c)  

(d)  

93. TABCDRT 

 ct4.c1l , 4l AB =8 

CD=9T1t3BC=7U ITADt 

(a) 12 

(b) 8 

(c) 11 

(d) 10 

94. '1T 311q1 RT1I ?' T .4uI 

(a) .ic'IIc-1c4 1 

(b) jii 

(c) k14Iklcic, 31I 

(d)  

95. u*1, k1F4 1 TT IHct, i*i T fri 

 , 1 r ir 'l 1 

Icf 1 9N1 li ? 

(a) ifH 

(b)  

(c) iitct 

(d) .ii 

96.   1S3 1i1 31t oI11I 

iii;ii 'tIcU 

(a) fl (b) 

(c) 3I'.c1cc11 (d) i1i1 

A -20- 
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97. Find the missing number from the following 
alternatives. 

21 24 36 

11 14 12 

3 ? 4 

77 112 108 

(a) 3 (b) 2 

(c) 6 (d) 4 

98. Which of the following is NOT a widely 
recognised and accepted style of interpersonal 
communication? 

(a) Manipulativeness 

(b) Aggression 

(c) Persuasion 

(d) Assertiveness 

99. According to 'rational decision making model', 
last step is 

(a) Evaluation of alternative 

(b) Selection of the best alternative 

(c) Identification of alternative 

(d) Selection of alternative 

100. Number of prime factors < 825  < ('Jis 
6) 

(a) 52 

(b) 33 

(c) 37 

(d) 36 

97. PHrcRd i 

21 24 36 

11 14 12 

3 ? 4 

77 112 108 

(a) 3 (b) 2 

(c) 6 (d) 4 

98. rciRci q.i-ft tkk4tk4 1tK 

*1i M1? 

(a) cti 

(b) 3siiii 

(c) 3f *1 

(d) IT 

99. icpci iuq Sfl4' 39Tr{ 3T1p:1 (UF 

(a) IicIc T ç'4jc4.j 

(b) 1i.i 1 V4 

(c) 1lcI.1 

(d) 1ii i 'cti.i 

100. :IiJI2 x825 

(a) 52 

(b) 33 

(c) 37 

(d) 36 

A -21- 
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